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HOVA SCHOOL OF
BUSINESS L [CONOMICS

I1.B. The small open economy of Schmidtland has two sectors, a tradable (T) and a non-tradable
(N). The production functions are given as: Yy = Ly and Y = Ly. Further assume that each price

weights 50% in the consumer price index [the CPI is given by P = P#Py™?], that P* = 1 and Py = %,
and that the price of foreign currency in terms of domestic currency is e = 4.

d) Assuming that firms in Schmidtland maximize profits, find:
(d1) The labour demand of each of the sectors

Lymax T =X PiYl - wbl = mex FORLLL -wLl
3 \ - AJ - 5 = -
WL co ) Pliizw & ow o-a: } bor 1 2 o BB B wziy
Pe
For . W s B W Year
P T

(d2) The price of tradables

Pe= €78 = 4. Yy =4

(d3) The nominal wage rate

w o Yr= 1

(d4) The price of non-tradables
Por = w = 1

(d5) The consumer price index
Po fr rt 2 7R = A

(d6) The real exchange rate
0= CE 5 S T

P 1

e) Consider now that there was a productivity shock in the tradable sector of Schmidtland, such
that now Yy = 4L, Considering fixed exchange rates, find:
(el) The price of tradables and the nominal wage rate
Pr= ety = 4.1y = 4 (=) BSde thed Aew wozlPy sk W E S

woz4fez 4 4= 4 (%)

(e2) The price of non-tradables

Por = =4 (F)

(e3) The consumer price index

S NS Rl g PSR
(e4) The real exchange rate

g-eff _ 4.4

y L

=2 (L)

@_5_ ALbsolute PyYyY X (9 F1 at an Hoves )
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